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program source_thesis;
{SAPPTYPE CONSOLE}

uses

Math, Syslltils;

const

type

var

sampiel = 15; sample2 = 30; sample3 = 50; sample4 = 100; sample5 = 200;
powerl = 2; power2 = 3; power3 = 4; powerd = 5; power5 = 6; iteration = 1,000;
varianl =4; varian2 = 6; vanan3 = 8; varian4 = 10;

data = array[L,.sample5,1,.(power5+1 )]of double;

data2 = array[L..sample5]of double;

data3 = array[1..(power5+1)]of double;

data4 = array[1..(power5+1},1..(power5+1)]of double;

datas = array[1..iteration]of double;

data6 = array[L..((2*(power5+1))+(3*sample5))]of double;

data7 = array[1,.(sample5+1),1,.((2*(power5+1 ))+(3*sample5)+1 )]of double;
data8 = array[L..(2*(power5+1))]of integer;

data9 = array[L..iteration]of double;

a.aab,c, ,tllvarian, p,tcountinteger,

amse_ols,amse rid_ols,amse rid_lav, cv_ols,cv,rid_ols,cv rid lav;double;
sigma_ols,sigma_rid_ols,sigma_ridJav, rmse_beta_ols,rmseJ)eta_rid_ols,rmse_beta_ridJav:double;
mse_ols,mse_rid_ols,mse_ridjav;data9;

amse_beta ols,amse_beta rid ols,amse beta rid lav, olsk ols,s lav,k rid lav,testamse min:double;
x_model,x_ols:data;

e,z,y_ori,x_ori,xb_ols,xb rid_ols,xb_rid lav.data2;

beta,beta ols,beta rid ols,betalav,beta rid_lav;data3;

xty_ols,xty rid_ols,xty ridJav.data3;

xJnv_olsx_inv_rid ol xJnv_nd_lav,xtx_olsxtx rid_olsxtx_rid_lav:data4;

procedure datanormal(n:integer;var z,data2);
var kinteger; 1 r2:double; z1;data2;

begin

randomize;
for i:= 1 to sample5 do
21[i]:=0;

=1
repeat

if(<= Yhen

begin
r1 ;= random; r2 := random;
Z4[i]:=sart((-2)*In(r1 ))*(cos(2*pi*r2));
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end
else
21[i=0;
=i
until i > sample;
z:=11;
end;
procedure get _error(ninteger; sigmae:double; var e:data);
var iiinteger; z2,temp:data2;
begin
for .= 1to sample5 do
begin
Zi)=0
templi]:=0;
end;
datanormal(n,z2);
for .= 1to sample5 do
begin
if(i<=)then
templi]:= sqrt(sigmae)*z2[i]
else
temp[i]:= 0;
end;
e;=temp;
end;
procedure get x(ninteger; varx;data2);
variLkLjinteger;  sigma.'double; x1:data; nor,z3;data2;
begin
for i1:= 1to sample5 do
begin
23il]=0;
norfi]:= 0;
end;
datanormal(n,z3);
=2
sigma := 1
forkl:= 1to do
norfk1]:= mu+(sigma*z3[k1]);
X:=nar;
end;
procedure poly x( pinteger;x_in:data2;var x_out;data);
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varf1jl teger; xL:data;
begin
foril= 1to sampie5 do
forjL:= 1to (power5+1) do
x1[i1,1]:=0;
for il:= 1to sampie5 do
begin
forjl:= 1to p+1 do
begin
if (i1<=n) then
begin
if (1=1) then
x{[iL,j1):=1
else
x1[iL,j1]):= power(xJn[i1],(1-1));
end
else
x1[i1,j1]:=0;
end;
end;
X o t=xl;
end;

procedure xtxcross(x.data;n,p:integer;var xtx.datad);

var ijkinteger;
begin
for =1 to p do
forj= 1top do
begin
x(i] =0
for k= 1to sample5 do
X1 =] + (xEkTxkl)
end;
end;
procedure get_beta(p:integer; var beta:data3);
var i:integer;
begin
for i= 1to (power5+1) do
begin
if 0<=(p)) then
betali] ;= 1
else
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betali] := 0
end;
end;
procedure get y(x.data;b:data3;e:data2;n:integer; var y.data2);
var i, : integer;
begin
for =1 to sample5 do
begin
Wil=0;
for=1 to (power5+1) do
ylil= ylil+ (Lol
yliT:=ylil+efl;
end;
end;
function det(x.data4;p:integer).double;
var i, kinteger; temp,templ.datad; sum:double;
begin
if (p = 2) then
det:= (X[1,1]*x[2,.2])-([2,1]*X[1,2])
else
begin
=0,
forj:= 1to p-1 do
fork=1to p do
temp[j,k]:= X[[+LK];
tempL;=temp;
for = 1to p do
begin
if i=1 then
begin
forj,= 1to p-1 do
for k= 1to p-1 do
temp[k,j]:= tempi [k,j+1]
end
else
begin
forj=1topl do
for k= 1to p-1 do
ifj <ithen
temp[k,jJ:= tempi k]
else



tempkJ:= templ[k,j+1];
end;
sum:=sum-+(power((-1),(i+1))*x[L,i]*det(temp,p-1));
end:
det = sum;
end;
end;
procedure inv(x.data4; p:integer; varxin:datad);
var i,j,krkc,m:integer; d,cal:double; temp:data;
begin
fori:=1 topdo
forj=1topdo
xin[i,jJ:=0;
d:= det(x,p);
if(d<>0)then
begin
fori:= 1to pdo
begin
forj;=1 top do
begin
if (1=1) then
begin
for k.= 1to p-1 do
forkc:=1 to p do
templkr kc]:=x[kr+1 ke];
if (j=1) then
forkc:= 1to p-1 do
forkr:= 1to p-1 do
templkr kc]:=temp[kr,kc+1]
else
for k= 1to p-1 do
forkr;=1to p-1 do
if (kc<j) then
temp[kr,kc]:=temp[kr.kc]
else
templkr kc]:=temp[kr,kc+1];
end
else
begin
for kr:= 1to p-1 do
forkc:= 1to p do
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if (kr<i) then
tempkr ke]:=x[kr kc]
else
templkr kc]:=x[kr+1 kcl;
if (=1) then
forke:= 1to p-1 do
forkr=1top-1 do
temp(kr kc]:=temp[kr kc+1]
else
forke:= 1to p-1 do
forkr:= 1to p-1 do
if (ke<j) then
temp(kr kc]:=temp[kr,kc]
else
temp(kr kc]:=tempkr kc+1];
end,
xinfj,i]:= power((-1),(i+])*(1/d)*(det(temp,p-1));
end;
end,
end
else
writeln('Undefined Invert of XTX');
end,
procedure xtycross(x.data; y:data2; pinteger; varxy:data3);
var i jinteger;
begin
for ;= 1to power5+1 do
xy[i]:=0;
for =1 to pt1 do
begin
forj=1to do
Xy[IT:= xy{il+ (<O, yQ)
end;
end;
procedure estimat_beta(x.datad;y.data3;p:integer;var beta:data3);
var i,j:integer;
begin
for ;=1 to (p+1) do
begin
beta[i]:=0;
forj:= 1to (p+1) do
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betafi]:- betalil+{(x[LT*Y{i])
end;
end;
procedure xbcross(x.data;b:data3;n,p:integer;var xb:data2);
var ijinteger;
begin
fori=1to do
begin
xbl[i]:=0;
forj:= 1to pdo
X=X+ (x{i,1*oil);
end;
end;
function get_mse_beta(beta:data3;degree;integer):double;
var kinteger; tempi;double; set_beta:data3;
begin
for .= 1to degree do
set_beta[i]:=
templ:=0;
for .= 1to degree do
tempi :=tempi + power((set_betali]-beta[i]),2);
get mse_beta:=templ/degree;
end;
procedure leas_abs(x:data; y:data2; nn,pp:integer; var b:data3);
var mm2 Integer; flag:data8;
, 2,1, 2. ,nnd,nn5,nnT:integer;
Lk, Lkr,p,times,el kinteger; cc.datab; cr,ik e:data2;
a;data7; am,aa,ec:double;
canin.canoutboolean; bp,bm:data3;
begin
p=2(pp+1),
=(3*nn)+p;
m2 = m+l;
n2:=n+1;
for i:= 1to p do ccfi]:=0;
= (2nn)+p;
fori=ptlto  doccf]=1;
4= 3t
5:=(3*nn)+p;
fori:= 4tonn5 do ccfi]:= 1000;
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fori="1to  do crfi]:= 1000;

fori:- 1to nndo iki:=  4+i-1;

fori=1to do
begin
=1
repeat
k= ((29)-1);
ali k=Xl
k=k+1:
a[i k]:= -x[i,j];
J=L
until (j>pp+1);
L=nn+p;
forj= (p+t1)to 1do
if((j-)=p)then
afijl:=1
else
a[i]:=0;
2:=nnl+1
forj= 2to do
if{(-)=nn1)then
afij]=-1
else
afi]-=0;
forj= 4to do
if((J-)=nn3)then
alij]:=1
else
ai]-=0;
= 5+
afi, [:=y;
ify[i]<0 then

forj= 1to  /do a[ij]:= -a[i,];

end;

forj=1to do

begin

a[m2,j]:=0;
forl=1t0 do
a[mz jJ=(crT*al ]);
end,

forj=1to do
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a[m2,jJ:=ccfj]-a[m2.[f
a[mz, 2]:=0;
fori:= 1to mdo
a[m2,n2]:=a[m2,n2]+(cr|i]*a[i,n2]);
repeat
canin:=false;
for.- 1to do
if(a[m2,j]<0)then
begin
canin:=true;
break;
end;
if canin then
begin
k=1,
am:=a[m,1];
forj,=2to do
if(a[m2,jJ<am)then
begin
am:=a[m2,J;
k:=j
end;
canout:=false;
fori;= 1tomdo
if(a[i,k]>0.000001)then
begin
canout:=true;
break;
end;
if canout then
begin
fori:= 1tomdo
if(a[i,k]>0)then
e[i]:=a[i,n2]/a[i K]
else
e[i:=99999.9;
fori:= Ltomdo
if (e[i[>=0)then
begin
kr:=i;
ec.=e[l];



break;
end;
fori:= 1tomdo
if((O<=g[i])and(e[i]<ec))then
begin
ec.=e[l];
kr:=i;
end;
ik[kr]:=k;
crlkr];=cclk];
fori= to 2do
begin
if(i<>kr)then
begin
forj;= 1to 2do
ifj<>K)then

all,J-=afl,1-{(afl.KJ*alkr ] /alkr.k])

ali,k]:=0;

end;
end;
aa:=alkrKJ;
forj= 1to 2do

afkr,j);=alkr j]/aa;
a[m2,n2]:=0;
fori= Ltomdo

a[m2,n2]:= a[m2,n2]+(cr[iJ*a[i,n2]);

end;
end;
until({not caninjor(not canout));
fori;= 1topdo
flag(i]:=0;
fori=1to do
forj= 1topdo
if(ik[i]=j)then
flag(j]):=I;
=1,
=0,
repeat
if(flag[i+j]<>0)then
bp[i];=a[flag[i+]],n2]
else
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bp(i}:=0;
if(flag[i+j+1]<>0)then
bm(i]:=a[flag[i+j+1],n2]
else
bm(i]:=0;
= 4,
=+
until (i>(pp+1));
for i:= 1to pp+l do
b{{]:=bp{i-omi];
end;
function get var(x.data;y.data2;b:data3;n,p:integer):doubie;
var iiinteger; tmp:double; xb:data2;
begin
xbeross(x, , ,pxb);
tmp:=0;
fori:= 1to do
tmp := tmp -+ ((y[il-xb]*(y{{]-xoli]));
tmp:=tmp/(n-p);
get var=tmp;
end;
procedure bth_cross(bt:data3;n:integer;var btbidouble);
variinteger;
begin
btb = 0;
fori=1to do
bth:=bto+(bt[i]*bt[i]); -
end;
function geLk(p:integer;s;doub'e;b;data3);double;
var bth,temp:double;
begin
temp:=0;
btb_cross(b,p,btb);
temp:=(p*s)/btb;
get_k:=temp;
end;
procedure xtxplusk(xtx:data;p:integer;k.double;var xtxk.datad),
var i jinteger;
begin
for .= 1to pdo
forj:= 1topdo
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if(i=j)then
XEXK[i ] =X ] +k
else
XEXK[1 =X
end;
begin {Main Program}
{TODO -ollser -cConsole Main : Insert code here }
writeln:
randomize;
fora:~ 1to5do
begin
case a of
1: :=samplel, 2:m=sample2; 3: :=sample3; 4: :=sampled; else :=sample5;
end;
get x( x_ori);
for bi=1 to 5do
begin
case b of
Lp:=powerl; 2:p:=power; 3:p:=power3; 4:p:= powerd; else p:=powers;
end;
fors=1to do
fortl:= 1to p+l do
X ols[st1]=0;
poly x( ,p,x_ori,x_modei);
for c:= 1to 4 do
begin
case ¢ of
1:varian:=varianl; 2 :varian:=vanan2; 3 :vanan:=varian3; else varian:=varian4;
end;
writehC sample size =", : " degree ="p:2," variance model =" varian:3);
writeln;
amsej3ls:= 0; amse rid ols:=0; amse rid_'av.=0; rmse,beta ols:= 0; rmse_beta rid_ols:=0;
rmse_beta _rid iav:=0; sigma_ols:=0; sigma_rid ols:= 0: sigma_rid_lav:= 0; cv_ols:= 0;
cv_rid ols:=0; cv_rid_lav:=0;
for count:= 1to iteration do
begin
for s:= 1to samples do
y,0r[s]:=0;
for s:= 1to sample5 do
e[s]:=0;
mse_ols[count]:=0; mse_rid_ols[count]:= 0; mse_rid.Jav[count]:= 0; get error(n,varian,e);
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get_beta(p+1,beta); get y(x_model,beta,e, ,y ori);

X_0s:=x_model; xtxcross(x_ols, ,P+1 xtx ols);
xtycross(x_ols,y_ori, ,pxty ols); inv(xtx_ols,p+1 xjnv_ols);
estimat_beta(x_inv_ols,xty ols,p,beta_ols);

rmse,beta_ols :=rmse_beta ols + get mse_beta(beta ols,p+1);

_ols:= get var(x_ols,y_ori,beta_ols, ,P+1); k o :=gei k(pt1,s ols,beta ols);
xtxplusk(xtx_ols,p+1 k ols,xtx_rid_ols); inv(xtx_rid_ols,p+1 xJnv_rid_ols);
estimat_beta(x_invjid_ols,xty ols,p,beta rid_ols);

rmse_beta rid_ols := rmse_beta_rid_ols + get_msejoeta(beta _rid_ols,p+1);

leas_abs(x_model,y ori, ,p.betajav); sJavi=get var(x_model,y oribetaav, P+1);
K ridjav:=get_k(p+1,sjav,betajav); xtxplusk(xtx_ols,p+1,k rid_lav xtx_ridjav);
inv(xtxjdjav,p+1,x_inv_rid_lav); estimat_beta(x_inv_rid_lav,xty gls,p,beta_ridjav);
rmse_beta rid_lav:= rmse_beta_ridjav + get mse_beta(beta_ridjav,p+1);
mse_ols[count]:= get mse_beta(beta ols,p+1);
mse_rid_ols[coimt];= get mse_beta(beta rid ols,p+1);
e_ridJav[count]:= get mse_beta(beta rid lav,p+1)
end;
amse_beta_ols :=rmse_beta_gIsfiteration; amse beta rid_ols ;= rmse_beta rid_olsfiteration;
amse_beta rid lav ;= rmse_beta rid_lav/iteration;
for count:= 1to iteration do
begin
sigma_ols:= sigma_ols + power((mse_ols[count]-amse_beta_ols),2);
sigma_rid_ols:= sigma,rid_ols + power((mse_rid_ols[count]-amsejoeta_rid_ols),2);
sigma_rid_lav:= sigmajidjav + power((mse_rid_lav[count]-amse_beta ridjav),2);
end;
sigma_ols:= sqrt(sigma_olsfiteration); sigma_rid_ols:- sqrt(sigma_rid_ols/iteration);
sigma_ridjav:= sqrt(sigma_rid_lav/iteration);
cv_ols:= sigma_olslamse_beta_ols; cv_rid_ols:= sigma_rid_olslamse_beta rid_ois;
cv_rid_lav:= sigma_ridjav/amse_beta_ridjav;
writelhC amse beta);
writelnC amse beta ols =",amse_beta pls:30:3); writelnC amse beta rid ols =*amse_beta rid_ols:30:3);
writelnC amse beta rid lav = ',amse_beta_ridjav:30:3);
writeln;
writelhC standard deviation’); writelnC sigma ols =",sigma_ols:30:3);
writelnC sigma rid ols = *,sigma_rid_ols:30:3); writelnC sigma rid lav =",sigma_ridjav:30:3);
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writeln;
writelnO coefficient variance'); writeinC coefficient variance ols = "tv_0ls:30.3);
writelnC coefficient variance rid ols = "tv_rid_ols:30:3);
writelnC coefficient variance rid lav =",cv_rid_lav:30:3);
writeln;
if(amse_beta _ols <amse _beta rid_ols)then
amse_min:= amse_beta ols
else
amse_min:= amse_beta rid_ols;
if(amse_beta rid_lav < amse_min)then
amse_min:= amse_beta rld_lav;
writelnC amse min ="amse_m :30:3);
if(amse_min =amse_beta ols)then
begin
writelnC dif rid ols =",((amse_beta rid_ols-amse_min)/amse_min):30:3);
writelnC dif rid lav =",((amse_beta ridjav-amse_min)/amse_min):30:3);
end
else
if(lamse_min=amse_beta rid_ols)then
begin
writelnC dif ols =",((amse_beta_ols-amse_mi )iamse_ in):30.3);
writelnC dlif rid lav =",((amse_beta rid_lav-amse_min)/amse_min):30:3);
end
else
begin
writelnC dif ols =",((amse_beta_ols-amsejTiin)/amse_min):30:3);
writelnC dif rid ols =",((amse_beta nd_ols-amse_min)/amse_min):30:3);
end;
writeln;

end;
readin;
end;

end;

readin;

end.
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